Session-2021-22
Second Term Examination
Subject—Science and Technology

Class-9th

Time: hirs. | . . Maximum Marks : 50
westion from 1 to 20 carries one mark each.

Q. 1. hfcvar sEEAIRE &1 THHH I ¢ |

The chemical formula of Calcium Hydroxide is

(1) CaSo, (1) Ca(OH),
(i) Cacl, (1v) CaO
Q. 2. ST qr3st (WA amen e difits § fazmm awell & wie 3
(1) Na, H, C, O (i) Ca, S, 0, H
(i) Ca, O (iv) Na,N, O
The chemical symbols of elements present in baking soda are,
() Na.I1L.C, O () Ca. S. O, H
(i) Ca, O (iv) Na, N, O
Q.3 TETFIE &1 EE H Yo yarT ferment @is & foag swerh
gl—
(i) ] (ii) geIaRA
(iii) 92 (iv) g2

Rutherford's alpha particle scattering experiment was responsible
for the discovery of.
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(1) Atomic nucleus (i} Electron

{i1) Proton {(1v) Neutron

Q. 4. wifeTy g w1 wEt sorae e faramg frer i e | €2
()2, 8 (i) 8,2, 1
(i) 2, 1.8 (iv) 2.8, 1

Which one of the following is a correct electronic configuration of
sodium atom ?

(i)2,8 (i) 8,2, 1
(iit) 2,1, 8 (iv) 2, 8, 1
Q. 5. 0.1 HIE HTEd GHO] § FOl &l W' e |
(1) 12.044 < 10* (i) 1.51 = 10~
(11i) 6.022 x 10% (iv) 6.022x10
The no. of particals in 0.1 mole of carbon atom will be
(i) 12.044 < 10% (i) 1.51 » 10°°
(iii) 6,022 - 107 (iv) 602210

Q. 6. BB TUATRIEE 61 THEMAF G

() HO (1) H,0,

(iii) H,O, (iv) H.80,

The chemical fomula of Hydrogen peroxide is
(i) FLO (i) 1.0,

(i) H.O, (iv) H.SO,

Q. 7. TARA CH, 1 Hfoass geqqr §

12




Q. 8

(i) 26u (i) 28u

(ni) 4u {iv) 18u
The molecular mass of C,H, is

(1) 26u (i) 28u
(1t} 4u (1v) 18u

TEEITRYOT o TTel (AR T STTHR A8 AR 0T &l QA1 fqvel o
siTe il gl <

(i) TR (ii) STERITI &

Gii) g 2 (iv) FAE

According to universal law of gravitation the, force of attraction is
to the distance between two objects.

(1) directly proportional (i) inversely proportional

(1) equal (1v) isless

e U7 60k T ST 9 T ST i Wdg T YR BRI

(1) 6kg (i1) 10kg

(ii) 60 kg (iv) 600 kg

The weight of'a 60kg object on earth, will weigh on moon's surface as
(i) 6 ke (n) 10kg

(ifi) 60 kg (iv) 600 kg

"o &I A B

(1) 9.8m/s" (i) 20m/s*

(1) Om/s? (iv) 15m/s’

The value of'g'1s
i3




(i) 9.8m/s" (i) 20m/s’
(i) Om/s’ (iv) 15m/s°

Q. 11, 50 kg. SSTHM =1 TF TSH UF WM W Ereh? 45 Tifgar 9sec
W wgal § 1 ufE v WET 1 S9E 15em. &1, o F A 10ms?
ferar sire 9t 3q=1 ‘ufe’ B
(1) S00w (1) 375w
(i) 100w (iv) 50w

A boy of'mass 50kg runs up a staircase o’ 45 steps in 9sec. If the
height of each step is 1 Scm, Take g = 10ms * Then his power will

be
(1) 500w (i) 375w
(1) 100w (iv) 50w
Q. 12, TIfest Sl #1 oFTF §
(i) mgh (i1) mdh
| ) 2 3
(i) Em\f‘ (1v) gmv“
The formula for kinetic energy is.
(1) mgh (i) mdh
(iii) L (iv) 2 oy
2 3

Q. 13, @1 T R W1 Yererar o) PraifRa s g 2
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Q. 14
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(i) ST (i) g

(i) e (iv) e

Which property of sound defines loudness of sound ?

{1) Amplitude (i) Frequency

(1) Time period (1v) Wave length

Frefafiaa 7§ amg oo | wftfeefa & syort 1 #ifas gwiie
ARCET R,

— Y HTEF & B |

— 39 WHTHA A1 & TIh H Te] 3T |

— 379! B84 J9H M (Covid Vaccine) @ el & |

— AT HTZ W T I ST 06, §31 & U & 24 781 1

W

When you would be more easily mfected due to COVID

— You wear proper masks,

— You have not come in contact of COVID infected person.

—- You have been vaccinated with double dose of COVID

VACCINE,
—You do not take care of being visiting crowded places, wearing

mask, keeping sate distance and ignoring hygiene
HIV & U AH &
(1) THHT FA 9PRE

(i) TIFF SR foreram
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(iii) B G AT rsit
(iv) &g ggue gy
The full form of HIV is
(1) Human immuno virus
(i1) Humen [nterior solution
(i11) Human immuno virology
(1v) Hidden Human Virus
Q. 16, CFC 1 yu =M 2
(i) welll el e (i) AR & e e

The full form of CFC is
(i) Chloro floro carbon (1) Chlorofloro chemical
{iit) Chlorine flourine carbon (iv) Chlorine, Floro. Carbon

Q. 17. Y=l & g | SFRSH F U FI WS E 1 THE 0, 3R

<du
(i) O (ii) O,
(i) O (iv) O,

The two types of oxygen available in Earth's atinosphere. One is
O, and second is

(iii) O, (i) O,
0. 18, sir=i[ utd 39 fafewor 9 yeat =1 e s ¢ |
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(1) 2T THT (i) T fafaor
(iii) 1 fereay (iv) wFs egiq

Ozone layer protects earth from the dangerous radiation of

(1) Infrared rays (1) Ultravoilet rays
(iit) X-Rays (iv) Ultra sound

Q 19, F= 8wy Sefemfes G g ?
(i) ST (i) THTergTe 1
(iii) FHER (iv) TeaR
Which of'the following is a chronic disease 7
(i) Cold (i) Elephantiasis
() Fever (iv) Stomach ache

Q. 20. TES APIA SR F 99T 37 T & F2 G had s |1 9%
B0 R R A e AR R R | EGAC R e 1
(i) Wi et ek g
(i) enfifa weret 1 9w ERT
(i) 72, fHar soarfe wis
(iv) T SYER HTH

Rabies virus is spread by the bite ofinfected dogs and other animals.
It can be prevented if the patient is treated with

(1) Anti Rabies vaccine
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Q 21

{3 22,

0y 23

Q. 24.

Q. 25

Q. 26

(i) Visiting some religous place
(i) Eating Sweets/Jaggery
{(iv) By doing self medication
Section—B
a'ff’p; 08 WA T Rl | (Do any 8 questions)
12 STTRETSH T o1 Hiet W witafda i |

Convert 12g O, gas into mole,

(D AL(SO,), (1) CaCl,

(i) KNO, (iv) CaCo,

Write down the names of compounds represented by the following
formulae

(D ALSO,), (i) CaCl,

(i) KNO, (iv) CaCo,

ek AT ST ATET GRS A He e wlar g ?

Why is it not possible to see an atom with naked eyes?

What do you mean by free fall?

fereft v o goam T R W 9T 3 d 2

What are the differences between the mass of an object and its
weight?

1 J e &1 ufeiiud it |
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Q

Q

b2
-1

28

29,

Define 1] of work.

= & wefvm sgiodl s o = e ?

(a) S99 g (b) Tueati

What is the range of frequencies associated with

(a) Infrasound (b) Ultrasound

yfreefiaton 1 2 ?

What is immunisation ?

iy e FHHarl e sEfaal w1 aden AT % woh
T iy d € 1 9vi F3 fF 9 eToA-anes | SR B 9 Y
eIk

A doctor/nurse health worker is exposed more to sick people than

others in the community, Explain how she/he prevent themselves
from getiing sick.

‘feterfen’ T W s g e fofag)

Write a short note on 'Hepatitis' disease.

Section—C
Note : Attempt any three questions. (3%3=9)
T 3 W il |
e & g fagid i fadaan sifs
Write down the postulates of 'Dalton's atomic theory,
fordl g =1 it =11 & ferg ssiaR fafian |
Write an expression for the kinetic energy of an object.
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Q. 33, 5@ ST SER B0 € W SR YT 9T TIueR] IS i
1 el gt fear s & 2
Why are we Normally advised to take bland diet and nourishing
food when we are sick?

Q. 34, BUR SgHved ¥ YRy Sg W@l 9, st aemved § e
T T ATl 319 W 37 T W W H el Sl @ | S et
& A W feoll i) el % we o g Fryomfoae iy %
YHTE o] SRS HITSIT |
The lifesaving gas of our atomsphere in upper atomsphere changes
into a triatomic molecule, an another gas, Comments on both the
gases. Explain the role of this triatomic gas in context of planet Earth.

Section - D

Note : Altempt any one questions. (5x1=5)
Ig 1YY il |

(). 35 Compare Thomson's, Rutherford's and Bohr model of atom.

LAY, EIEE F SIE s U] aredl w1 19 H qer 1 ifer |

OR
Ffereri 5 SToRTISTT T TR 7 BT CATshal i afeym
gy |

Define valency by taking examples of Silicon ad Oxygen.

OR
TG & |1 AT FHIMTT- (i) T G4 (i) T G,
(iii) R (iv) g | weEenfre g @ swm fafeag )
Explain with examples 20

(1) Atomic number (i) Mass number (iii) Isotopes (iv) Isobar
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